Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	Calenda r Year of publicat ion	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
	2017-18									
1	Prof.Vinod V. Nandargi		"Is India Moving Towards Cashless Economy for Sustainable Development? An Analysis"	3 rd International Conference on Economic Growth & Sustainable Development: Emerging Trends	3 rd International Conference on Economic Growth & Sustainable Development: Emerging Trends	International	2017	ISSN 978-93-83302- 18-5		SDMIMD. Mysore
2	Prof. M.M.Meti		Spiritualism and Mysticism in R.K.Narayan's The Guide.	Sonorous Vibrations of Spiritualism and Mysticism in Indian Writing in English	1st National Conference conducted by English Dept. on Sonorous Vibrations of Spiritualism and Mysticism in Indian Writing in English	National	2018	ISBN 978-81-93187 7-3		SharanaBasaves hwar College of Commerce, Kalaburgi.
3	Dr. M. Nanjundaswami		"JAGATIKARANADA LLI PRADESHIKA BHASHEGALA SAMASYAGALU MATHU PARIHAROPAYAGAL U"		Two days International Seminar on Indian Literature in International Perspective	International	2018	ISBN 978-93-83813 32-2		S.B. Arts & K.C.P Science College, Vijayapur

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference		National / International	r Year	ISBN/ISSN number of the proceeding	_	Name of the publisher
4	Prof.Vinod V. Nandargi		"Is India Moving Towards Cashless Economy for Sustainable Development"		National Conference on "Recent Policy Reforms of India- Emerging Trend"	National	2018	ISSN 2231-2137		Oxford P.G. Dept. of Studies in Commerce, Hubballi
	2018-19									

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
1	Prof. M.M.Meti		R.K.Narayan's The English Teacher: A Comparison between the characters and Philosophies of Krishna and the Headmaster.	Chronicle of Humanities & Cultural Studies	National Conference on Indian English Literature-Past, Present and Future	National	2018	ISSN 2454-5503 Impact Factor 4.197(IIJIF)		Department of English, Davangere University, Davangere.
2	Prof.Vinod V. Nandargi		Economy For Sustainable	Economic Growth and Sustainable Development: Emerging Trends	4 th International Conference on "Economic Growth and Sustainable Development: Emerging Trends"	International	2018	ISBN 978-93-83302 18-5		Shri Dharmasthala Manjunatheshw ara Institute for Management Development, Mysore
3	Prof .M.V.Jigabaddi		Towards Cashless Economy For Sustainable	Economic Growth and Sustainable Development: Emerging Trends	4 th International Conference on "Economic Growth and Sustainable Development: Emerging Trends"	International	2018	ISBN 978-93-83302 18-5		Shri Dharmasthala Manjunatheshw ara Institute for Management Development, Mysore

SI. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	Calenda r Year of publicat ion	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
4	Dr. M. Nanjundaswamy		Halegannada Kavyagala Prastutate	Halegannada Kavya: Rasagrahana Anusandhana	One Day State Level Conference on Halegannada Kavya: Rasagrahana Anusandhana.	State	2018	ISBN 978-81- 933473-5-5		Shri Shankar Anand Singh, Govt First Grade College, Hospet.
5	Dr. Basavaraj Kumbar		Halegannada Kavyagalalli Bhasha Vaividyate	Halegannada Kavya: Rasagrahana Anusandhana	One Day State Level Conference on Halegannada Kavya: Rasagrahana Anusandhana.	State	2018	ISBN 978-81- 933473-5-5		Shri Shankar Anand Singh, Govt First Grade College, Hospet.
6	Prof. R.M.Nalwade	BIMS International Research Journal of Management and Commerce Quarterly Peer Reviewed, International	Role of Forensic Accounting in Combating the Scams of Banking Sector in India			International	2019	e-ISSN 2456:6381		B.V.V.Sanghas Institute of Management Studies, Bagalkot.

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
7	Prof.T.P.Darbar	BIMS International Research Journal of Management and Commerce Quarterly Peer Reviewed, International	An Insight on Money Laundering- Cases from Indian Scenario.			International	2019	e-ISSN 2456:6381		B.V.V.Sanghas Institute of Management Studies, Bagalkot.
8	Prof.K.J.Malaji		Technology as a Key Driver To Globalisation and Viceversa.	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot
9	Prof.S.S.Charantimath		Work Stress and its Management Among Bank Employees. A	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
10	Prof. M.M.Huddar			Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot
11	Prof.R.M.Nalawade		Laundering and its Governance	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot
12	Prof.I.K.Mathad		A Study on Urban Cooperative Banks in India- Issues and Prospects	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
13	Prof.G.M.Navadgi		Technology as a Key Driver To Globalisation and Viceversa.	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot
14	Prof.T.P.Darbar		Laundering and its Governance	Innovative Trends In Commerce, Management & Economics.	National Level Students and Research Scholars Conference on Innovative Trends In Commerce, Management & Economics.	National	2019	ISSN: 2454-6593 PIF:3.26		Basaveshwar Commerce College Bagalkot

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International	r Year	ISBN/ISSN number of the proceeding	_	Name of the publisher
	2019-20									
1	Dr. M.P.Goudaganvi	"Srujan" –Trimasik Patrika	Akkamahadevi Aur Meerabai ki Viraha Vedana.			National	2019	ISSN:2320-0391		
2	Prof.R.M.Nalawade	BIMS International Research Journal of Management and Commerce	Profitability of Regional Rural in India-A Case Study of Karnataka Vikas Grameen Bank, Dharwad.			International	2019	ISSN: 2456:6381		Basaveshwar Institute of Management Studies

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
3	Dr.B.P. Kumbar		Kanaka Daasara Sahitya Aahara Sanskritika Sangharshada Nelegalu	Re-reading of Kanakada's Literary and Cultural Heritage.	International Conference on Re- reading of Kanakada's Literary and Cultural Heritage.	International	2020	ISBN 978-93-89852 14-1		"KanakPrabhe" Department of Kannada Netaji SubashChandra Bose Degree College, Vijayapur.
4	Dr.M.Nanjundaswamy		Kanaka Daasara Sahitya Aahara Sanskritika Sangharshada Nelegalu	Re-reading of Kanakada's Literary and Cultural Heritage.	International Conference on Re- reading of Kanakada's Literary and Cultural Heritage.	International	2020	ISBN 978-93-89852- 14-1		"KanakPrabhe" Department of Kannada Netaji SubashChandra Bose Degree College, Vijayapur.
5	Dr. M.P.Goudaganvi		Kabeer Ki Manavatavadi Prasangeekata	Bhakti Sahitya ki Prasangikata.	International Conference on "Vartamana Paripreksha Mein Bhakti Sahitya ki Prasangikata."	International	2020	ISBN:978-93-83813- 51-3		B.L.D.E.A Basaveshwar Arts and Science College, Basavanabagew adi.

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
6	Dr.M.Nanjundaswamy	Pratibimba Journal	Dalita-Bandaya Kavyagalalli Samajavadada Charche			National	2020	ISSN:2582-2284		Indian Institute of Multidisciplinar y Research and Development,M ysuru, India.
7	Dr.B.P. Kumbar	Pratibimba Journal	Prabandha sahityadalli Bhavanatmaka Chintanegalu: Vandu Avalokana			National	2020	ISSN:2582-2284		Indian Institute of Multidisciplinar y Research and Development,M ysuru, India.
8	Dr.B.P. Kumbar	Abhijata Kannada	Kanakadasara Sahitya: Aahaara Sangharshada sanskritika nelegalu			National	2020	ISSN-347-4017		Pratibhana

Sl. No.	Title of the book/chapters published	Title of the proceedings of the conference	International	r Year	number of the proceeding	Name of the publisher

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International	r Year	proceeding	Affiliating Institute at the time of publication	Name of the publisher
	2020-21									
1	Prof.Vinod V. Nandargi	Innovation in Commerce &	The Role of NGO in Rural Development of			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
		Management	India - A Study on Shri Kshetra Dharmastala Rural Development Project(SKDRDP) At Bagalkot District							

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
2	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	The Role of Public Private Partnership(PPP) in Rural Development with Indian Context			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
3	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	The Role of Environmental Accounting for Sustainable Growth and Goodwill of A Corporate Entity			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
4	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Demonetaization: Issues, Challenges and Future ProspectsA case study on People Perception at Bagalkot City			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
5	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Making Awareness for Using Organic Products			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
6	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	A pioneering Step of Goods and Services Tax in India			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
7	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Is India Moving Towards Cashless Economy for Sustainable Development? An analysis			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
8	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Limited Liability Partnership - A NewArena in the Business World			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
9	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Corruption and Rural Development			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
10	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Role of Corporate Social Responsibility in Sustainable Growth of Human Resource Management			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
11	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Formulation of Corporate Social Responsibility Strategies to Change the Country's Economy			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
12	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
13	Prof.Smt.K.J.Malaji	Innovation in Commerce & Management	Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
14	Prof.Smt.S.S.Charantimat h	Innovation in Commerce & Management	Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
15	Prof.Vinod V. Nandargi	Innovation in Coomerce & Management	A Review of marketing mixes: 4Ps or more? - Market Your Goods and Services by Using Ten 'R's to Maximise market Share			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
16	Prof.Vinod V. Nandargi	Innovation in Commerce & Management	Value Creation Through Corporate Social Responsibility Activities			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
17	Prof. Smt.G.M.Navadgi	Innovation in Commerce & Management	Value Creation Through Corporate Social Responsibility Activities			National	2020	978-93-5396-852-6		Prof.V.V.Nanda rgi
18	Prof.Vinod V. Nandargi		Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share		International E-Conference on Adapting to the New Business NormalThe Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	
19	Prof.Smt.K.J.Malaji		Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share		International E-Conference on Adapting to the New Business NormalThe Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	l .	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
20	Prof.Smt.S.S.Charantimat h		Relationship between Corporate Social Responsibility and Marketing Performance: The Mediating Effect of Customer Value and market Share		International E-Conference on Adapting to the New Business NormalThe Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	
21	Prof.Vinod V. Nandargi		Value Creation Through Corporate Social Responsibility Activities	Conference on	International E- Conference on Adapting to the New Business Normal The Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	
22	Prof. Smt.G.M.Navadgi		Value Creation Through Corporate Social Responsibility Activities	Conference on	International E- Conference on Adapting to the New Business Normal The Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
23	Prof.Vinod V. Nandargi		mixes: 4Ps or more? - Market Your Goods and	New Business	International E-Conference on Adapting to the New Business NormalThe Way Ahead	International	2020	978-93-83302-47-5	Shri Dharmasthal a Manjunathes hwar Institute For management Developmen	
24	Prof.Smt.S.S.Charantimat h	Teaching and Learning in Covid Era	Challenges faced by learners and Teachers during the Covid -19 Pandemic and Role of Teachers in Handling it			International	2020	978-81-946006-9-5		Akhand Publishing House
25	Prof. Smt.G.M.Navadgi	Teaching and Learning in Covid Era	Challenges faced by learners and Teachers during the Covid -19 Pandemic and Role of Teachers in Handling it			International	2020	978-81-946006-9-5		Akhand Publishing House

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
26	Prof.S.M.Khot	Teaching and Learning in Covid Era	Challenges faced by learners and Teachers during the Covid -19 Pandemic and Role of Teachers in Handling it			International	2020	978-81-946006-9-5		Akhand Publishing House
27	Dr B.P.Kumbar	Srujan(Peer Reviewed)	Indirabayi,Indira Kadambarigala Mele Vachana Sahityada Prabhava.			National	Jan-Dec 2020	2320-0391		Soumya Prakashan
28	Dr M.Nanjundaswamy	Srujan(Peer Reviewed)	Ambigara Choudayyana Vachanagalalli Samajika Vivechane			National	Jan-Dec 2020	2320-0391		Soumya Prakashan

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
29	Dr B.P.Kumbar	Deccan Literary Journal Indexed with international ISSN Directory, Paris.	Kuvempuravara Jalagara Naatakadalli Kayaka Mattu Bhakti.			International	2020	ISSN 2249-1910 Peer reviewed & Refereed Journal		Kalyan Literary and Educational Trust
30	Dr.M.M.Meti	Deccan Literary Journal Indexed with international ISSN Directory, Paris.	Pedagogical Methods in Vogue in Ancient India and their Present Day Relevance			International	2020	ISSN 2249-1910 Peer reviewed & Refereed Journal		Kalyan Literary and Educational Trust
31	Dr B.P.Kumbar	Prathibimba (Peer Reviewed)	Modala Swathantra Kadambarigala Vastu Mattu Bhashaya Vishleshane.			National	Jan-Feb 2021	ISSN:2582-2284		IIMRD Journals

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
32	Prof.Nandini N. Doddamani	Covid-19 and Education	Use of Digital Technologies to Enhance Education			International	2021	978-81-951369-1-9		ABS Books
33	Prof.S.M.Khot	Covid-19 and Education	Post Covid-19: Impact of Digital Technology on Education Industry			International	2021	978-81-951369-1-9		ABS Books
34	Prof Vinod Nandargi	Environmental Issues	The Role of Environmental Accounting For Sustainable Growth and Goodwill of a Corporate Entity			International	2021	978-81-951369-6-4		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
35	Prof.S.M.Khot	Environmental Issues	The Role of Environmental Accounting For Sustainable Growth and Goodwill of a Corporate Entity			International	2021	978-81-951369-6-4		ABS Books
36	Prof.Smt.S.S.Charantimat h	Environmental Issues	A Study on Green Accounting and its Status in India.			International	2021	978-81-951369-6-4		ABS Books
37	Prof.Smt.K.J.Malaji	Environmental Issues	A Study on Green Accounting and its Status in India.			International	2021	978-81-951369-6-4		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
38	Prof. Smt.G.M.Navadgi	Environmental Issues	A Study on Green Accounting and its Status in India.			International	2021	978-81-951369-6-4		ABS Books
39	Dr M. Nanjundaswamy	Abhijata Kannada	Vachanagalalli Brashtachara Virodhi Niluvugalu			National	Jan- Feb2021	ISSN 2347-4017		Pratibhana
40	Dr B.P.Kumbar	Abhijata Kannada	Karnataka Ekikarana ChaluvaliyaSarthaka Kshanagalu			National	Mar- Apr2021	ISSN 2347-4017		Pratibhana

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
41	Prof.Smt.S.S.Charantimat h		India.	International Journal of Academic Research	International Webinar on Environmental Justice -Issues and Challenges	International	2021	ISSN 2348-766 Peer Reviewed Impact Factor 6.023		Likhita Publications Kakinada
42	Prof.S.M.Khot		India.	International Journal of Academic Research	International Webinar on Environmental Justice -Issues and Challenges	International	2021	ISSN 2348-766 Peer Reviewed Impact Factor 6.023		Likhita Publications Kakinada
43	Prof. Smt.G.M.Navadgi		India.	International Journal of Academic Research	International Webinar on Environmental Justice -Issues and Challenges	International	2021	ISSN 2348-766 Peer Reviewed Impact Factor 6.023		Likhita Publications Kakinada

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
44	Prof.Nandini N. Doddamani		Green Technology and Green Marketing	International Journal of Academic Research	International Webinar on Environmental Justice -Issues and Challenges	International	2021	ISSN 2348-766 Peer Reviewed Impact Factor 6.023		Likhita Publications Kakinada
45	Prof.Sheetal.V.Barshi		Green Technology and Green Marketing	International Journal of Academic Research	International Webinar on Environmental Justice -Issues and Challenges	International	2021	ISSN 2348-766 Peer Reviewed Impact Factor 6.023		Likhita Publications Kakinada
46	h	Educational Administration Management and Leadership	A Study on work Stress and its Management in education sector- Theoretical Perspective			International	2021	ISBN 978-93-91002 40-4		Dr.Savita Mishra & Mr. Uday Modak

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
47	Prof.S.M.Khot	Educational Administration Management and Leadership	A Study on work Stress and its Management in education sector- Theoretical Perspective			International	2021	ISBN 978-93-91002 40-4		Dr.Savita Mishra & Mr. Uday Modak
48	Prof.Smt.S.S.Charantimat	Indeginious Art and Culture of Eastern India	A Study on the benefits of Indeginious Art			International	2021	ISBN 978-81- 951369-6-4		Akhand Publishing House, Dr.Savita Mishra,Dr.Vipi n Sharma
49	Prof.S.M.Khot	Indeginious Art and Culture of Eastern India	A Study on the benefits of Indeginious Art			International	2021	ISBN 978-81- 951369-6-4		Akhand Publishing House, Dr.Savita Mishra,Dr.Vipi n Sharma

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
50	Prof. Yasmeen Bilagi	Indeginious Art and Culture of Eastern India	A Study on the benefits of Indeginious Art			International	2021	ISBN 978-81- 951369-6-4		Akhand Publishing House, Dr.Savita Mishra,Dr.Vipi n Sharma
51	Prof.S.M.Khot	National Education Policy 2020-Future and Prospects	Key Highlights of New Education Policy 2020 with Special Reference to Technology			International	2021	ISBN 978-81- 951369-8-8		Dr.Savita Mishra,Dr.Vipi n Sharma
52	Prof.Nandini N. Doddamani	National Education Policy 2020-Future and Prospects	National Education Policy(NEP) 2020			International	2021	ISBN 978-81- 951369-8-8		Dr.Savita Mishra,Dr.Vipi n Sharma

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
53	Prof.I.K.Mathad	1	National Education Policy 2020: Making Indian Youth Skilled to Achieve Atmanirbhar Bharat			International	2021	ISBN 978-81- 951369-8-8		Dr.Savita Mishra,Dr.Vipi n Sharma
54	Prof.Vinod V. Nandargi	Rural Development- A Route to Economic Development	The Role of NGO in Rural Development of India: A Study on Shri Kshetra Dharmasthala Rural Development Project (SKDRDP) At Bagalkot District			International	2021	ISBN 978-93-91002 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
55	Prof.S.M.Khot	Rural Development- A Route to Economic Development	Poverty Alleviation Programmes: A Strategy for Rural Development			International	2021	ISBN 978-93-91002 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
56	Prof. Smt.G.M.Navadgi	Rural Development- A Route to Economic Development	The Role of Rural Marketing in Rural Development			International	2021	ISBN 978-93-91002- 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
57	Prof.Y.H.Bilagi	Rural Development- A Route to Economic Development	Rural Women in India: The Invisible Lifeline of Rural Community			International	2021	ISBN 978-93-91002- 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
58	Prof.Sheetal.V.Barshi	Rural Development- A Route to Economic Development	Women Empowerment			International	2021	ISBN 978-93-91002- 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
59	Prof Vidya I Vastrad	Rural Development- A Route to Economic Development	Women Empowerment			International	2021	ISBN 978-93-91002 56-5		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
60	Prof.Vaishali Bendre	Agricultural marketing and Rural Management	Impact of Covid on Agribusiness			International	2021	ISBN 978-93-91002 65-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
61	Prof.Sheetal.V.Barshi	Agricultural marketing and Rural Management	Water Resource Management			International	2021	ISBN 978-93-91002 65-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
62	Prof.K.J.Malaji	Agricultural marketing and Rural Management	Water Management Problems and Challenges			International	2021	ISBN 978-93-91002 65-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
63	Prof. Yasmeen Bilagi	Goods and Service Tax	The Impact of GST on India's Foreign Trade			International	2021	ISBN 978-93-91002 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
64	Prof Vidya I Vastrad	Goods and Service Tax	GST Implementation and Challenges: An Overview			International	2021	ISBN 978-93-91002 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
65	Prof.Sheetal.V.Barshi	Goods and Service Tax	GST Implementation and Challenges: An Overview			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
66	Prof Vaishali Bendre	Goods and Service Tax	GST: Evolution in India			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
67	Prof.C.A.Hiremath	Goods and Service Tax	CGST and SGST			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
68	Prof.Smt.T.P.Darbar	Goods and Service Tax	Goods and Service Tax in Tally ERP:Basics			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
69	Prof.Sheetal.V.Barshi	Goods and Service Tax	Impact of GST on small and Medium Enterprises			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
70	Prof.Nandini N. Doddamani	Goods and Service Tax	Comparision of Indian GST with other country Models			International	2021	ISBN 978-93-91002- 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
71	Prof.Smt.S.S.Charantimat h	Goods and Service Tax	GST in India: Challenges and Prospects			International	2021	ISBN 978-93-91002 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
72	Prof.K.J.Malaji	Goods and Service Tax	Be a responsible Citizen, Remember your Taxes A Pay for the Opportunity.			International	2021	ISBN 978-93-91002 49-7		ABS Books Dr.Savita Mishra & Prof. Shreeshail M.Khot
73	Prof.K.J.Malaji	Commerce,	A Study of Financial Literacy and its impact on Customer satisfaction with Special Reference to Banks of Bagalkote District			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
74	Prof. G.M.Navadgi	Commerce,	Role of Depository System in the Development of Financial System and in Turn the Economic Development of the Country			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
75	Prof.S.M.Khot		Role of Depository System in the Development of Financial System and in Turn the Economic Development of the Country			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
76	Prof.Sheetal.V.Barshi	Recent Trends in Commerce, management and Economics	Green Economy			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
77		Recent Trends in Commerce, management and Economics	Green Economy			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
78	Prof.Nandini N. Doddamani	Recent Trends in Commerce, management and Economics	Green Economy			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
79	Prof.Smt.S.S.Charantimat	Commerce,	Vocal For Local: A Step Towards Sustainable Economic Development			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
80	Prof. V.V.Nandargi	Commerce,	Financial Inclusion through PMJDY- With Respect to Karnataka State			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
81	Prof.Smt.T.P.Darbar	Recent Trends in Commerce, management and Economics	Innovation and its Management			National	2021	ISBN 978-93-5437- 380-0		Prof.V.V.Nanda rgi
82	Prof. V.V.Nandargi	Innovation in Commerce and Management				National	2020	ISBN:978-93-5396- 852-6		

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
83	Dr. B.P.Kumbar	Varthamanada Varthe				National	2020	ISBN:978-81- 947665-1-3		
84	Dr. B.P.Kumbar	Idu Gulige Lokavayya				National	2020	ISBN:978-81- 937935-9-6		
85	Dr. B.P.Kumbar	Barada Lokake Hodiri Yellige				National	2020	ISBN:978-93-5419- 809-0		

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	r Year	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
86	Dr. B.P.Kumbar	Rottiya Putti Mattu Avva				National	2020	ISBN:978-93-5426- 429-0		
87	Dr.M.P.Goudaganvi	Padya Parimala A text book for B.A. Second Semester				National	2021	ISBN:978-93-81863 75-6		
88	Prof.S.M.Khot	Rural Development- A Route to Economic Development				International	2021	ISBN 978-93-91002- 56-5		

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
89	Prof.S.M.Khot	Goods and Service Tax				International	2021	ISBN 978-93-91002 49-7		
90	Prof.S.M.Khot	Agricultural Marketing and Rural Management				International	2021	ISBN 978-93-91002 65-7		
91	Prof. V.V.Nandargi	Recent Trends in Commerce, management and Economics				National	2021	ISBN 978-93-5437- 380-0		

Sl. No.		Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	International	r Year	proceeding	Name of the publisher
	2021-22								
1	Dr. Basavaraj Kumbar	Bombaiwala				International	2021	ISBN:978-93-5509- 040-9	

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	r Year	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
2	Dr. Basavaraj Kumbar	Abijata Kannada	Basavadi Sharanara Vachanagalalli Manaviya Moulyagalu			State	2021	ISSN: 2347-4017		
3	Dr. Basavaraj Kumbar	Pratibimbha	Modala Ghattada Swatantra Kadambariggalli Mudrana Yantra Mattu Patrike Gala Prabhav			State	2021	ISSN: 2582-2284		
4	Prof. Smt. S. H. Shettar Prof. Smt. S. S. Charantimath Prof. S M Khot	Inspiring India Towards Entrepreneurship for Economic Development				National	2022	ISBN 978-93-91002 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
5	Prof. Smt. S. H. Shettar	Inspiring India Towards Entrepreneurship for Economic Development	Role of Educational Institutions in Promoting Entrepreneurship Capabilities Among the Students			National	2022	ISBN 978-93-91002 43-5		ABS Books
6	Prof.S.M.Khot	Inspiring India Towards Entrepreneurship for Economic Development	Social Entrepreneurship and Sustainability: A Conceptual Framework			National	2022	ISBN 978-93-91002 43-5		ABS Books
7	Prof. Smt. S. S. Charantimath	Inspiring India Towards Entrepreneurship for Economic Development				National	2022	ISBN 978-93-91002 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
8	Prof.Nandini N. Doddamani	Inspiring India Towards Entrepreneurship for Economic Development	Green Entrepreneurship			National	2022	ISBN 978-93-91002- 43-5		ABS Books
9	Prof. G.M.Navadgi	Inspiring India Towards Entrepreneurship for Economic Development	Green Entrepreneurship As A Source of Competitive Advantage for The Firms and Sustainable Development for the Economy			National	2022	ISBN 978-93-91002- 43-5		ABS Books
10	Prof.K.J.Malaji	Inspiring India Towards Entrepreneurship for Economic Development	Value Creation By Entrepreneurship Through Corporate Social Responsibility			National	2022	ISBN 978-93-91002- 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		proceeding	Affiliating Institute at the time of publication	Name of the publisher
11	Prof.M.M.Huddar	Inspiring India Towards Entrepreneurship for Economic Development	Marketing of Banking Services In Bagalkot District			National	2022	ISBN 978-93-91002- 43-5		ABS Books
12	Prof.Sheetal.V.Barshi	Inspiring India Towards Entrepreneurship for Economic Development	International Entrepreneurship			National	2022	ISBN 978-93-91002- 43-5		ABS Books
13	Prof. Vidya I Vastrad		Entrepreneurship and Economic Development			National	2022	ISBN 978-93-91002- 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
14	Prof. V.V.Nandargi	Inspiring India Towards Entrepreneurship for Economic Development	A Review of Marketing Mixes			National	2022	ISBN 978-93-91002- 43-5		ABS Books
15	Prof. M. H.Jannappagol	Inspiring India Towards Entrepreneurship for Economic Development	Digital Fluency: Innovations in Entrepreneurship Development			National	2022	ISBN 978-93-91002- 43-5		ABS Books
16	Prof. M. R. Badagandi	Inspiring India Towards Entrepreneurship for Economic Development	Microfinance As A Key Driver for Economic Development			National	2022	ISBN 978-93-91002- 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
17	Prof. P. S. Mathad	Inspiring India Towards Entrepreneurship for Economic Development	Challenges Faced By Young Entrepreneurs			National	2022	ISBN 978-93-91002- 43-5		ABS Books
18	Prof. I. K. Mathad		Digitalization of MSMEs in India: Opportunities and Challenges			National	2022	ISBN 978-93-91002- 43-5		ABS Books
19	Prof. Teena P. Darbar		An Overview of Women Entrepreneurship: Financial Assistance and Governance			National	2022	ISBN 978-93-91002- 43-5		ABS Books

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
20	Prof.Vaishali Bendre	Inspiring India Towards Entrepreneurship for Economic Development	Challenges Faced By Young Entrepreneurs in India			National	2022	ISBN 978-93-91002 43-5		ABS Books
21	Prof. V.V.Nandargi	Financial Inclusion in India				National	2022	ISBN 978-93-5566- 101-2		Prof Vinod V Nandargi
22	Dr. J. V. Chavan	Financial Inclusion in India	Finance From crowd Funding "No One Has Ever Become Poor By Giving"			National	2022	ISBN 978-93-5566- 101-2		Prof Vinod V Nandargi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International	Calenda r Year of publicat ion	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
23	Prof.K.J.Malaji	Financial Inclusion in India	Finance From crowd Funding No One Has Ever Become Poor By Giving"			National	2022	ISBN 978-93-5566- 101-2		Prof Vinod V Nandargi
24	Prof. G.M.Navadgi	Financial Inclusion in India	Role of Monetary Policy in the Stabilization and thereby in the Development of the Economy			National	2022	ISBN 978-93-5566- 101-2		Prof Vinod V Nandargi
25	Prof. V.V.Nandargi	Financial Inclusion in India	Financial Inclusion through PMJDY- with respect to Karnataka State			National	2022	ISBN 978-93-5566- 101-2		Prof Vinod V Nandargi

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
26	Dr. Jagannath V. Chavan	Skill India Opportunities and Challenges	Entrepreneurship and Vocational Skills			National	2022	ISBN:978-1-4357- 7425-4		Laxmi Book Publication
27	Prof. Sheetal Barshi	Skill India Opportunities and Challenges	Entrepreneurship and Vocational Skills			National	2022	ISBN:978-1-4357- 7425-4		Laxmi Book Publication
28	Prof Vaishali R Bendre	IJAAR International Journal of Advanced Applied Research	Financial and Commodity Derivatives			International	2022	ISSN: 2347-7075 Impact Factor- 7.238		Young Researcher Association

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
29	Dr. Basavaraj Kumbar	Pratibimbha	Chaduranga-Vaishakh Kadambariya Jeevan Nota			National	2022	ISSN:2582-2284		IIMRD
30	Prof M M Huddar	International Journal of Research Publication and Reviews	Analysis of SBI, HDFC and BDCC Bank Marketing Services			International	2022	ISSN: 2582-7421		IJRPR
31	Prof I K Mathad	International Journal of Research Publication and Reviews	Analysis of Cooperative Banks Financial Status In Bagalkot District			International	2022	ISSN: 2582-7421		IJRPR

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
32	Prof S M Khot	International Journal for Research Trends and Innovation	Effective Communication			International	2022	ISSN: 2456-3315		IJRTI
33	Prof T P Darbar	International Journal for Research Trends and Innovation	Digital India Program- Initiatives and Progress			International	2022	ISSN: 2456-3315		IJRTI
34	Prof Ramakrishna Typi	International Journal for Research Trends and Innovation	Atma Nirbhar Bharata "It Is Not Just A Slogan, It Is A Planned Economic Strategy and Vision Of The Country"			International	2022	ISSN: 2456-3315		IJRTI

Sl. No.	Name of the teacher	Title of the book/chapters published	Title of the paper	Title of the proceedings of the conference	Name of the conference	National / International		ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
35	Dr Jagannath V Chavan	International Journal for Research Trends and Innovation	NEP – A Bird's Eye View			International	2022	ISSN: 2456-3315		IJRTI
36	Prof Vaishali R Bendre	International Journal for Research Trends and Innovation	NEP – A Bird's Eye View			International	2022	ISSN: 2456-3315		IJRTI
37	Prof Kavita J Malaji	International Journal for Research Trends and Innovation	Cashless India is Future of India – Opportunities and Hurdles			International	2022	ISSN: 2456-3315		IJRTI

Sl. No.	Name of the teacher	Title of the book/chapters published		Title of the proceedings of the conference	Name of the conference	National / International	r Year	ISBN/ISSN number of the proceeding	Affiliating Institute at the time of publication	Name of the publisher
38	Prof Girija M Navadgi		Marketing Information System Need for Effective Marketing Decisions			International	2022	ISSN: 2456-3315		IJRTI
39	Prof Nandini N Doddamani	International Journal for Research Trends and Innovation	Role of Education Institution in Promoting Entreprenuership Capacities among the Students			International	2022	ISSN: 2456-3315		IJRTI